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Q.1 Select the most appropriate meaning of the given idiom.
Go over
Ans 1. To gift
2. To pass
3. To examine

4. To prepare

Question ID : 7532299033
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate ANTONYM of the given word.
Rebuke
Ans 1. Scold
2. Insult
3. Blame

4. Praise

[ Question ID : 7532299032
Status : Answered
Chosen Option: 4




Q.3 Select the most appropriate option to fill in the blank.

We waited for our turn.

Ans 1. quickly

2. slowly
3. patiently

4. smoothly

Question ID : 7532299027
Status : Answered

Chosen Option: 3

Q.4 Select the most appropriate option to fill in the blank.

My employer my salary last month.

Ans 1.rise

2. rose

3. raised

4. raise

Question ID : 7532299029
Status : Answered

Chosen Option: 3

Q.5 Select the most appropriate article to fill in the blank.

Gita is fine athlete.

Ans 1.a
2. No article required

3. the

4. an

Question ID : 7532299037
Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate article to fill in the blank.

Have you read interesting book on birds that | gave you?

1. No article required

Ans
2.an

3. the
4. a

Question ID : 7532299036
Status : Answered

Chosen Option: 3




Q.7 Select the most appropriate option to fill in the blank.

Where did you buy this beautiful dress ?

Ans 1. for
2. from
3. before

4. along

Question ID : 7532299028
Status : Answered
Chosen Option: 1

Q.8 Select the most appropriate option to fill in the blank.

If you this opportunity, you will be successful later.

Ans 1. seize
2. seizes
3. seized

4. are seizing

Question ID : 7532299030
Status : Answered
Chosen Option: 1

Q.9 Select the most appropriate synonym of the given word.

Infinite
Ans 1. Definite
2. Limited
3. Brief
4. Endless

Question ID : 7532299031
Status : Answered
Chosen Option : 4

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. But, in most cases it is an acquired habit.

B. In some people, it is an inborn quality.

C. Optimism is an attitude of taking a positive and bright view of life.
D. They are tuned that way by nature and temperament.

Ans 1. BDCA
2. CDAB
3.BADC
4. CBDA

Question ID : 7532299038
Status : Answered
Chosen Option : 4



'st appropriate meaning of the given idiom.
igue

in silent

alot

e rudely

lie

Question ID : 7532299034
Status : Answered
Chosen Option: 1

tion that can be used as a one-word substitute for the given group of words.

d surrounded by water on three sides

sula
Question ID : 7532299035
Status : Answered
Chosen Option: 1
on:

wing passage and answer the questions that follows.

» burst into the scene by making it to the 1980 Moscow Olympics as a 16-year-
tall deeds have exemplified Indian sporting excellence. The sprint queen was
rearer who helped countrymen live the dream of a rare sporting excellence in the
rrena.

| remote village called Payyoli, Usha became an icon for sport lovers. She made
3|l with pride, every time she stepped on to the track. She gave joy to all when

1e first Indian woman to make it to the Olympic finals.

st moment was also the most shattering in her life. She was pushed to the

1the 400 meters hurdles final at the 1984 Los Angeles Olympics. The Romanian
«caru won the bronze medal. Usha lost by 1/100th of a second. But every Indian
<nowledged the sense of achievement, though it fell short of India’s first

il from the track. Several girls born during the 1980s were named after the
served as a testimony to the love and affection many people had for Usha.

s the Asian sprint queen was highlighted by her winning five gold medals and a
1985 Jakarta Asian Games followed by a sensational four gold medals and one
he Seoul Asian Games the following year.

No:13

| the passage means ‘rule’?

[ Question ID : 7532299041




an:
wing passage and answer the questions that follows.

» burst into the scene by making it to the 1980 Moscow Olympics as a 16-year-
tall deeds have exemplified Indian sporting excellence. The sprint queen was
rearer who helped countrymen live the dream of a rare sporting excellence in the
rrena.

| remote village called Payyoli, Usha became an icon for sport lovers. She made
3|l with pride, every time she stepped on to the track. She gave joy to all when

1e first Indian woman to make it to the Olympic finals.

st moment was also the most shattering in her life. She was pushed to the

1the 400 meters hurdles final at the 1984 Los Angeles Olympics. The Romanian
«caru won the bronze medal. Usha lost by 1/100th of a second. But every Indian
<nowledged the sense of achievement, though it fell short of India’s first

il from the track. Several girls born during the 1980s were named after the
served as a testimony to the love and affection many people had for Usha.

s the Asian sprint queen was highlighted by her winning five gold medals and a
1985 Jakarta Asian Games followed by a sensational four gold medals and one
he Seoul Asian Games the following year.

No:14
he love and affection that people had for PT Usha?
:came an icon for sports lovers.

as called ‘golden girl’.
as made the flag bearer at the Olympic Games.

al girls born during the 1980s were named after her.

Question ID
Status

Chosen Option :

: 7532299043
: Answered
4

on:
wing passage and answer the questions that follows.

» burst into the scene by making it to the 1980 Moscow Olympics as a 16-year-
tall deeds have exemplified Indian sporting excellence. The sprint queen was
rearer who helped countrymen live the dream of a rare sporting excellence in the
rena.

remote village called Payyoli, Usha became an icon for sport lovers. She made
all with pride, every time she stepped on to the track. She gave joy to all when

1e first Indian woman to make it to the Olympic finals.

st moment was also the most shattering in her life. She was pushed to the

1the 400 meters hurdles final at the 1984 Los Angeles Olympics. The Romanian
icaru won the bronze medal. Usha lost by 1/100th of a second. But every Indian
<nowledged the sense of achievement, though it fell short of India’s first

il from the track. Several girls born during the 1980s were named after the
served as a testimony to the love and affection many people had for Usha.

s the Asian sprint queen was highlighted by her winning five gold medals and a
1985 Jakarta Asian Games followed by a sensational four gold medals and one
he Seoul Asian Games the following year.

No:15
mpics were shattering for PT Usha because:

3s pushed out of the track
iattered the previous record
Il'in the 400 m hurdles

st a medal by 1/100th of a second




an:
wing passage and answer the questions that follows.

» burst into the scene by making it to the 1980 Moscow Olympics as a 16-year-
tall deeds have exemplified Indian sporting excellence. The sprint queen was
rearer who helped countrymen live the dream of a rare sporting excellence in the
rrena.

| remote village called Payyoli, Usha became an icon for sport lovers. She made
3|l with pride, every time she stepped on to the track. She gave joy to all when

1e first Indian woman to make it to the Olympic finals.

st moment was also the most shattering in her life. She was pushed to the

1the 400 meters hurdles final at the 1984 Los Angeles Olympics. The Romanian
«caru won the bronze medal. Usha lost by 1/100th of a second. But every Indian
<nowledged the sense of achievement, though it fell short of India’s first

il from the track. Several girls born during the 1980s were named after the
served as a testimony to the love and affection many people had for Usha.

s the Asian sprint queen was highlighted by her winning five gold medals and a
1985 Jakarta Asian Games followed by a sensational four gold medals and one
he Seoul Asian Games the following year.

No:16
e following events did PT Usha win four gold and a silver medal?

Asian Games
a Asian Games
1geles Olympics

»w Olympics

Question ID : 7532299040
Status : Answered
Chosen Option : 1




an:
wing passage and answer the questions that follows.

e modern world could not exist. Oil is needed for travel because it powers our
Ises, trains, aeroplanes and ships. Oil helps machines of all kinds to run easily.
us other substances, such as artificial rubber, artificial materials for clothing
rials for making things. Yet till a hundred years ago no one used oil for any of
1s. In fact, no one knew that much oil existed.

ake oil; they find it. They look for oil in many ways. They begin by making a map
iere they are searching. Then they use the map to choose a site to explore more
/ start their work by examining the rock from under the surface and assess
likely to be underneath the rock.

w deeply the oil is buried, they need to know how far under the surface the rock
g seems hopeful, the men decide to drill down through the rock. In this way they
ier oil really does lie underneath. Often, this test-well, as it is called, is far away

1 and there is much work to do before any drilling starts. Houses and roads

for the people coming to drill the test-well. Then the big derrick that carries the
ut up. This derrick is a strong framework of steel about 45 meters high. The drill
owered from inside the derrick.

often means making a well that goes very deep into the earth. Such deep wells
en made until modern times. The rate of drilling depends upon the kind of rock
t can be as fast as 60 meters an hour. Drilling is usually done on dry land, but we
he rock under lakes or seas by putting the derrick on a special platform above

No:17
| the passage means ‘to evaluate'?

e
1

ne

Question ID : 7532299048
Status : Answered
Chosen Option : 2




an:
wing passage and answer the questions that follows.

e modern world could not exist. Oil is needed for travel because it powers our
ises, trains, aeroplanes and ships. Oil helps machines of all kinds to run easily.
us other substances, such as artificial rubber, artificial materials for clothing
rials for making things. Yet till a hundred years ago no one used oil for any of

1s. In fact, no one knew that much oil existed.

ake oil; they find it. They look for oil in many ways. They begin by making a map
iere they are searching. Then they use the map to choose a site to explore more
/ start their work by examining the rock from under the surface and assess
likely to be underneath the rock.

w deeply the oil is buried, they need to know how far under the surface the rock
g seems hopeful, the men decide to drill down through the rock. In this way they
ier oil really does lie underneath. Often, this test-well, as it is called, is far away

1 and there is much work to do before any drilling starts. Houses and roads

for the people coming to drill the test-well. Then the big derrick that carries the
ut up. This derrick is a strong framework of steel about 45 meters high. The drill
owered from inside the derrick.

often means making a well that goes very deep into the earth. Such deep wells
en made until modern times. The rate of drilling depends upon the kind of rock
t can be as fast as 60 meters an hour. Drilling is usually done on dry land, but we
he rock under lakes or seas by putting the derrick on a special platform above

No: 18
il for travel to:

machines run smoothly
clothing material
1e vehicles

artificial rubber

Question ID : 7532299045
Status : Answered
Chosen Option : 1




an:
wing passage and answer the questions that follows.

e modern world could not exist. Oil is needed for travel because it powers our
Ises, trains, aeroplanes and ships. Oil helps machines of all kinds to run easily.
us other substances, such as artificial rubber, artificial materials for clothing
rials for making things. Yet till a hundred years ago no one used oil for any of
1s. In fact, no one knew that much oil existed.

ake oil; they find it. They look for oil in many ways. They begin by making a map
iere they are searching. Then they use the map to choose a site to explore more
/ start their work by examining the rock from under the surface and assess
likely to be underneath the rock.

w deeply the oil is buried, they need to know how far under the surface the rock
g seems hopeful, the men decide to drill down through the rock. In this way they
ler oil really does lie underneath. Often, this test-well, as it is called, is far away

1 and there is much work to do before any drilling starts. Houses and roads

for the people coming to drill the test-well. Then the big derrick that carries the
ut up. This derrick is a strong framework of steel about 45 meters high. The drill
owered from inside the derrick.

often means making a well that goes very deep into the earth. Such deep wells
en made until modern times. The rate of drilling depends upon the kind of rock
t can be as fast as 60 meters an hour. Drilling is usually done on dry land, but we
he rock under lakes or seas by putting the derrick on a special platform above

No:19

ick?

»aratus to dig holes in the ground
1ework of steel for making a drill

»aratus to drill rocks under water

rework of steel for supporting a drill

Question ID : 7532299047
Status : Answered
Chosen Option : 2




an:
wing passage and answer the questions that follows.

e modern world could not exist. Oil is needed for travel because it powers our
Ises, trains, aeroplanes and ships. Oil helps machines of all kinds to run easily.
us other substances, such as artificial rubber, artificial materials for clothing
rials for making things. Yet till a hundred years ago no one used oil for any of
1s. In fact, no one knew that much oil existed.

ake oil; they find it. They look for oil in many ways. They begin by making a map
iere they are searching. Then they use the map to choose a site to explore more
/ start their work by examining the rock from under the surface and assess
likely to be underneath the rock.

w deeply the oil is buried, they need to know how far under the surface the rock
g seems hopeful, the men decide to drill down through the rock. In this way they
ier oil really does lie underneath. Often, this test-well, as it is called, is far away

1 and there is much work to do before any drilling starts. Houses and roads

for the people coming to drill the test-well. Then the big derrick that carries the
wut up. This derrick is a strong framework of steel about 45 meters high. The drill
owered from inside the derrick.

often means making a well that goes very deep into the earth. Such deep wells
en made until modern times. The rate of drilling depends upon the kind of rock

t can be as fast as 60 meters an hour. Drilling is usually done on dry land, but we
he rock under lakes or seas by putting the derrick on a special platform above

No : 20

tatements in the correct order to make a meaningful paragraph.

e rock under the surface.
p of the area.

h the rock.

e for exploration.

Question ID : 7532299046

Status : Answered

Chosen Option: 1
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Question ID : 7532299053

Status : Answered

Chosen Option : 2
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Question ID : 7532299052
Status : Answered
Chosen Option: 4
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Question ID : 7532299055
Status : Answered
Chosen Option: 4
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Question ID : 7532299049
Status : Answered
Chosen Option : 2
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Question ID : 7532299057
Status : Answered
Chosen Option: 3
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Question ID : 7532299056
Status : Answered
Chosen Option: 3
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Question ID : 7532299058
Status : Answered
Chosen Option: 1
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Question ID : 7532299054
Status : Answered
Chosen Option : 3
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Question ID : 7532299050
Status : Answered
Chosen Option: 3




" 2TeE §-

Question ID : 7532299059
Status : Answered
Chosen Option : 2

n:

T I ufe ok 3T aifda usi & IR Sl

a&t gygaT a1 fRAEdT # gUT R a7 thiel Sl UM &l & & STt 5| fe g freft SR g at
& g Joas Hed € foh U9 gUTT 81 39 919 T §HRY TTeTehl UaeT &1 SR T STTeR

T HTESTI+en | SR 3 I UR Ig GHET ST ¢ foh ol &l AT TS AT oh 718 hl TRER
UTT T ATH GAehs SfeehcR A5 STHTE BidT & foh THIST o w1gd a1 amresf o forter garm &1
£ a7 Tersf Sl & ord: &% & T TR gOT T M o o ¥ §HRT IeaT 3R qard Sl 8t

No: 33
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Question ID : 7532299064
Status : Answered
Chosen Option : 4
on:
3T I ufeT SR 3T aifda usi & I S|

& T AT fRATAT H GUIT SR AT 3h1Y S U o1 o & STt ¢ afe v fret G SR g at
T3 &g Joos hed € foh T gUTT €1 39 919 O g9 TTeTehl UcaeT g1 SR T SR

T TTASTeh | SR & AT TR I§ THS ST & foh hal &t AT STfdeh Al o ded ol TRER
YUTT T ATH GAehs STeehaR Ag! ST BIdT & foh THTST o ey a1 3iresf o forter g &1
£ 1 gl ST @ 31d: &R & W W GUTT ol T & o § gHRT ee 3R ST &1 gt

No: 34
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[ Question ID : 7532299065




n:

3T I Ul SR I e usHl & I il

aEl T I AT & gUT SR 3T shiel o fSUT ol &hm & SI1dt 81 afe g6 T SR g af
T & ST Yoo ed ¢ foh U9 gUTT 81 39 919 O gAY TeTehl UAeT § 1 SR T SR

T TTeSTen | SR 3 AT UR Ig THET STaT ¢ foh gl &l aT Sifdes A7t o T8 ol TRER
YUTT T ATH GAehs STeehaR Tg! ST BidT & foh THTST o ey a1 3iresf o forter gorm &1
£ a7 Teh St & o1 3R & T TR YOI BT 19 & o T §HRT SgeT SR Sa7d g1 gt

No : 35
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Question ID : 7532299062
Status : Answered
Chosen Option : 3
on:
T Y iU ok 3T Tefda usi & SR &gl

&Y g ar frear & i &R A1 sty Y fBUR & wm & St g aft gd Rt g R gt
T o i doe e ¢ foh I9Y 9N 8| 9 a1 & BART TTcTichl Tl 31 SR & 3TUR

T TSI | SR & AT WX Ig THST ST & foh hal &l a1 SHTAeh AT & A& & IR
¥JOTT ST TH AR SATARaR T8 SIAT SiaT & foh THTST & e ar simesf o faty gsm &1
5 a7 Teht St & o1 3R & T U YOI AT A9 & 9  §HRT Sae SR S=1d &l gt

No: 36
gar af forgerT ®9 YRUT R AaT 8?

Question ID : 7532299063
Status : Answered
Chosen Option: 1
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No : 37
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Question ID : 7532299069
Status : Answered
Chosen Option : 2
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et F 3ref ot ST fawm et fovar § fop rerRor smsfid) arf @ Sk Tu= avf &t fomt

i & &gl TR 41 31 a8 dhae ITRIAHR @ & dfra 7Y & &= aref & daer 7 goft &
g & de H e g5 81 el JIY A AT T BRI <okt SR hal S0 W1 i ik
Y 3T 31fdeh WRraerst 47 fear € foh ag IThT ggradr & fad T TOR-Y iR Ues o oft 3wt
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Question ID : 7532299070
Status : Answered
Chosen Option : 3
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3T I Ul SR 3T Haifda usHl & I S|

faier & 3ref o1 09T foww fayret fohar € o aramRor smehidt aif @ daw Tu= aif &6 ot

i g gt ST A1 81 I8 Shaot STRITAGR 4 g afed el & o= oref & dareyr & goft g
Jasrdn & e F Jeft g5 &1 el G 7 =7 ol TERT A 3R hgl STU Wi i A1k
T 3T 31k WRIaeid 47 3 & fob ag Sh! ggradr & foaT T9R-9Y R Tep oot off 3t

No: 39
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Question ID : 7532299067
Status : Answered
Chosen Option: 1
on:
7 I ufey ok 3T aifda usi & IR Sl

e 3ref ot O fawm et foha § fop rerRor smsfid) arf @ Sk Tu= avf &t fomt

i & &gl TR 41 31 a8 e ITRIAHR @ & dfra 7Y & o= aref & daer 7 goft &
g & deH H e G35 1 el GOV A AT T GERT Aiehe SR hal S0 W1 i fch
Y 3T 31fdeh WRiaetat 47 fear € foh ag IThT Tgradr & fad T TOR-Y iR Ues o oft 3wt

No : 40
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Question ID : 7532299068
Status : Answered
Chosen Option : 1
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d in which the carbon of a carbonyl group is bonded to two other carbons is
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Question ID : 7532299089
Status : Not Answered
Chosen Option : --

T aTgeh AT (f-71) WRAT S dAT (32 Adt) & 919 Qa1 veH &+ & g
RIT &gl SITQIT?

g9 fasmaTag=
g9 ferte

Tg faera

o fameafidt

Question ID : 7532299073
Status : Not Answered
Chosen Option : --

axar urh Fefaf@a A s arg?
ATt IER SE

T SE
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Question ID : 7532299080
Status : Answered
Chosen Option: 1

A9 it AtST HH oI AT SR ST, faer gaeg ok erd-gweyg, yfadia R
1Res FRFR Soft & RenfAai & g s=a Ren srufq @rawaR & ar diea.&.

¥ s oA & forg wgforaa vem & 8, forad seht enfdfes ok amfaes
@ia?

TRIRAT ThITRIRAT < Tget VereX Thid (The Central Sector Scheme of National
arship)

STEREST WhITRIAT &Y A Yo WhiA (The National Sector Scheme of National
olarship)

SIS WhIRIAY d Heot Yaex ThiH (The Central Sector Scheme of National
olarship)

STeREST WhIeRIRIT & fiiffue daex WhiH (The Principal Sector Scheme of
seas Scholarship)

Question ID : 7532299071
Status : Not Answered
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Question ID : 7532299088
Status : Answered
Chosen Option : 2
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Question ID : 7532299091
Status : Answered
Chosen Option : 2

1 et wd farr fmT (NMIDFC) a1 Frmeftereor & gam?

Question ID : 7532299072
Status : Not Answered
Chosen Option : --
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Question ID : 7532299085
Status : Answered
Chosen Option : 2
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Question ID : 7532299084
Status : Not Answered
Chosen Option : --
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Question ID : 7532299079
Status : Answered
Chosen Option : 2
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Question ID : 7532299074
Status : Not Answered
Chosen Option : -=
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Question ID : 7532299087
Status : Answered
Chosen Option : 3
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Question ID : 7532299075
Status : Answered
Chosen Option : 2

AfeifRa d @ forg s, afee a1 st srgae &7
R

Question ID : 7532299077
Status : Not Answered
Chosen Option : --

Teh T @RET 3R 91 @ S 39T € 9 SR SR # o1feh geu | S
mal

3 (autarky)
T4 (arbitrage)
J (asset)

& (appreciation)

Question ID : 7532299078
Status : Not Answered
Chosen Option : --
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Question ID : 7532299082
Status : Not Answered
Chosen Option : --
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Question ID : 7532299090
Status : Not Answered
Chosen Option : --

gSk TistT (PMGSY) aef # = &Y T
Question ID : 7532299083
Status : Not Answered
Chosen Option : --
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Question ID : 7532299081
Status : Not Answered
Chosen Option : --
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Question ID : 7532299076
Status : Not Answered
Chosen Option : --
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3T ht Tgahe T STehRY aht THsl 3R fey 7w deof T Hefa fAm=ferfad usi & SR <)

Ik el ehe aTel hRATHT 37R thies gihl & Ik o1+ 3iiciften wof ugent (1928, 1932
YT ITe;, fohan SITaT §, 39 SR YR &1 Wt & gagdn AT| 98 1922 § R 1 § nfdet
7 Y & & Ty Goitele o GR & T9g T & 8y | 1928 87 1932 & siieiften @i
Tt & 1936 & @ell & Igi TR I hl R et §Q HISAd Ha H STHAT i 8-1
T

No: 22
i fEeT<t ot o1 ot & @ o <rge & gom am?

Question ID : 7532299094

Status : Answered

Chosen Option: 3

n:

3T I Tohe T TR ot augl iR iy 7y deef § Tefda fAm=fofea usi & 3R )

ISP el T dTet BRATHT 3R hies gidhl & 3eh i sfi<ifies wgof ueanl (1928, 1932
YT g1, fhar SITdT §, 39 R YR &1 Dot & gager AT| 98 1922 § Rdg I1 § e
1 I EH o 1 Yilels T &R & 99F 7491 § 17T1 1928 3R 1932 & siciftes Qe
fefT & 1936 & @il & Igia TR & Y AT R §Y Biser &9 & ST 6t 8-1
™I

No:23

ifq el T ST RET URA # ______ & U & 5/ STrdn g1
seare fees

~a g

9 fead

et fees

Question ID : 7532299095

Status : Answered

Chosen Option : 3




Q.24

Ans

Q.25

Ans

Comprehension:
fA=forfad merier ot ugaR e STerRY t THst ok fiy e deef @ Hefdq fAm=ferfaa usi & SR 1

I8 UHE ¥ Y I el i aTel ARATH SR BIeS ichl H 3k 1 Sfieifteh Tuf uaent (1928, 1932
3R 1936) & foIq aTg foRaT ST 8, 3T &R YR T &l # caga 27| 98 1922 § YR 31 & nfaa
8T 3R 1926 & T1 Y & & T oitele ol GR & T0g T & oMY | 1928 37 1932 & Sfieiftes @i
T Qe & 91 dfed & 1936 & Well § 381 RATT S Y R hd §T WIg-el 29 8 STHAT bl 8-1
R & i Mt amt|

SubQuestion No : 24
e A A @ g fRerdl d ar A qarw@r
1. 3rofid ure fiig

2. goTeR g
3. G
4. 3w s

Question ID : 7532299093

Status : Answered

Chosen Option: 3

Comprehension:

fafafa merisr & uedk Tl SRt ot gust ofiR i3y e Ty § Hefdd fAmfafad usi & swr S

TE T IUHITRAKT ST & St I & UehR i Gehgeh! (eukaryotic) ehifRIhTS (YTIE dheseh arett
HifAepran) 7 fBerdr & gd a8 9 Srupet, QR HifRIhrT v ok geAshal & ure & forg e gidn
g1 Tg 317 Uk f3ieett & forT gYar & St o wes wiela uu & g1 ofiast 1 & Uk St ardTaror shras
Tl 1 I8 3 grggiensiess GsmgH! (acid hydrolases) Sl @amdes fafderar wadr & s <gfdere T,
TN iR uiefiderge S 9 srupatf ot aed &

SubQuestion No : 25

=1 | @ fore o, Syl siil it @ist &< aret et famrh (Cytologist) @ 390 @S &
forg argt = u A fRSaiatsht ar Afsfam & Tde R @ awnfaa forar mar ar?

1.1974
2.1977
3.1975
4.1976

Question ID : 7532299099

Status : Not Answered

Chosen Option : --




n:

3T Tt TgahR T STehRI aht THsl 3R fey 7T deof & Hefda fA=ferfad usi & SR &)

T 3T & ST T &R TR <l Gehercht (eukaryotic) HAenrarl (YRoe dsh areft
fieeht @ fOrT gYar & St o Wep it 4u & g1 it we & e sty arararor sra|
gIggIcsieen dSTgHT (acid hydrolases) &t &muds fafdear w@ar & Sit gfdtn RS,
TRTES oY 1S STuLeH ot died g

No: 26

# 9 fohg SueRlfAha shiferi Rt ==t evar &2

g

L}

i

Question ID : 7532299097

Status : Answered

Chosen Option: 1

n:

3T Pl Tehe T TR ot augl ik iy y deef § Tefda fAmfofea usi & 3R )

T ST § ST ST &R UhR el Yohach! (eukaryotic) hifRAenretl (YETE e ateft
ot T forT gYar & St o wes viela uu & gRT ofiast 9T & Ueh Sl ardaror s
grEgiesiee dSITEHl (acid hydrolases) Y erueh fafderar w@ar & St frie Tfre,
ITge S o Srupatl ht died &1

No : 27

hifArenT fa= (Cytologist) A 3 IURART 3t Y @ist A2

5

AEdge

fohen

g

Question ID : 7532299098

Status : Answered

Chosen Option : 2




n:

wing paragraph to understand the context information and answer the following
ed with the given context.

lian physicist and industrialist who initiated space research and helped develop
“in India.

nto a family of industrialists. He attended Gujarat College, Ahmadabad, but later
University of Cambridge, England, where he took his tripos in natural sciences in
Jar Il forced him to return to India, where he undertook research in cosmic rays
st Sir Chandrasekhara Venkata Raman at the Indian Institute of Science,
‘ngaluru). In 1945, he returned to Cambridge to pursue a doctorate and wrote a
¢ Ray Investigations in Tropical Latitudes’ in 1947. He founded the Physical
oratory in Ahmedabad on his return to India.

No: 28
discussed in the paragraph was instrumental in setting up the:
Institute of Medical Science (Delhi)

Institute of Management (Bangalore)
1al Institute of Mental Health and Neuro Sciences (Bangalore)

I Institute of Management (Ahmedabad)

Question ID : 7532299102

Status : Answered

Chosen Option : 2

n:

3T ht Ugahe e STehRY ot THsl ok fey e deof & Fefda fAmferfad usi & SR &1

Hifaren o=t SR SevTufal & fSigier Siafer SIgEeT chl [T el SR 9Rd H URATY]

f agrgar fn

7 & uRar & S+ fora a1 Igi TR dicts, SiewermEs J gfaar forr, treg a1e &
fryferermer Tt My, STEf 3R 1940 & uiehfaes famm &t wreiva wdien <o 61
T3 YR e & oIy TR gY, 78t I 9ROz TR, Sk (See) & fifa
R dehe I & g2 A sigqista fahron (cosmic rays) W 2iter foham| Siaere 6l ugrs et
& Shfrset arog ofie ofiR 1947 § "Iwrhfeseiy aretizn & shifthe ¥ 3afetrg" vy wR
H STt oTRa arueft wR IE1 srgHeTaTs # +fifies SrEeT TAIIe Sl T

No:29
WReg anfaen i =raf merisr & & € g2
BIG)
& AgTeriee
aqraT
RIS

Question ID : 7532299101

Status : Answered

Chosen Option : 3




n:

3T Tt TgahR T STehRY aht THsl ok fey e deof T Hefdq f=ferfad usi & SR <)

Hifores fammit ofiR Seiufa & =i siafer srqgiam 6t gmerd Y ofk wRd & tRAT]

{ agraar 6

7 % uRar & ST+ o a1 IgiA ORI dicts, SieHermEs § gfaer forr, g a1e &
fagfrener 9t 7g, STEf IBH 1940 H Urepden A= &Y uTeiog udier S<iof ol | g
M3 YR e & oIy TR gY, 78 I WRT R TRy, Sk (See) & «fifa
R dehe T & g2 A sigridta fheon (cosmic rays) W it o) Siqere 6l ugrs et
& S arog e 3R 1947 § "Swrehfesefig srafier & srifdie 3 sAfeig" fawg w
H Sroft sTRe arueft TR IR srgHeTaTs H +fifies SrEeT TARIIeT Sl T

No: 30
amfAem drad & u=requor ue R mami

Question ID : 7532299103

Status : Not Answered

Chosen Option : --

vledge of Computer Operation

HTIRFET ey wad el & g & Weit el & 3R I8 Uoh gl hger & &9
8?
o SRR R
Tfr SR Reen
I ATRfET Rew
Rf&T fen

Question ID : 7532299113

Status : Answered

Chosen Option: 1




Home Insert Page Layout

cut Calibri -]
Copy ~
Format Painter B I u-[H~[f-
aoard = Font
c* =
. ﬁ
8 = LI
a0
85
a0
75
70

Afoe Qade (Microsoft Excel) I3 arT aRoTR i ghm, Sier 39 SR g g due
( e Strem &2

B3:B4:B5)

Question ID : 7532299104
Status : Answered
Chosen Option : 2

f€ (MS PowerPoint) 2010 & Re= A &1 I T1 3 ¢ T3S SieA & AgE aedl

lome)
1 (Design)
File)

T (Animations)

Question ID : 7532299119
Status : Answered
Chosen Option : 3

et T 8?
FRITTEER
wfeT Reen
¥ TR




der always has an arrow on the corner of the folder icon.

right

left
-left

right

Question ID : 7532299115
Status : Not Answered
Chosen Option : --

#, @14 |1 gah g Ate (viewing mode) & fad i &1 gl gian &, dhaer =R (F)
£

Grayshadow)
(Grayscale)
rrayview)

Srayshade)

Question ID : 7532299123
Status : Not Answered
Chosen Option : --

q i9-91, §s 3iell AN} 1 Teh TR ) &2
|

i
|
M
Question ID : 7532299106
Status : Answered
Chosen Option: 3
Y T 8?7

| Time Operating System (I3 2139 3iTaRfeT f%en)
ime Operating System (37 23 TR {wew)
rime Operating System (Raet 213 SHToRfET &)
r Time Operating System (3R @138 TR kew)

Question ID : 7532299121
Status : Answered
Chosen Option: 3




&1 Je=g T Sit o6 A6 gfae, shgle gfie ofik erfiftes-wtoie gfte & e
gere 87

(storage) fEarza

R

(CPU)

Y AR

Question ID : 7532299114
Status : Answered
Chosen Option : 3

g hi9-91, ToRfET RAww &1 g uehR 82
HTRfET Ry

il

Question ID : 7532299107
Status : Answered
Chosen Option : 3

§, Ra= A9 & fore &a A, S 397 ofR S 3119 (zoom in and zoom out) Fe HiS[g

“(Layout)
ew)
1 (Design)

Insert)

Question ID : 7532299122
Status : Answered
Chosen Option : 2




SGIUTAN  Insert Page Layout  Formulas

2L Calibri - !|1'| - |
Copy ~ N
Format Painter BT W ~|o~(ad~
soard = Font
i -
= _f“
B c D E

a0

a5

80

75

70

Atoe Qaie (Microsoft Excel) I3 arT aRoT =t g, S1e 39 SoR (g g due
( feram i &2

1:B2:B3:B4:B5)

Question ID : 7532299105
Status : Answered
Chosen Option : 1

1 RAm A & g A 7 @ fora/fRa faerea/farereat st Iua foram SiT Temar &2

Teh 3 3R Yeh Qahs deh U el & | I9h d15 Ufedae dae thies # uwidler I,
T fRR A foRTes w31

5e foeTen o ok Su-s18+ A7 @ A7 (Rename) faered &1 T @31

AR & fIEt gproft+ E gamgl

i g

Al

Question ID : 7532299116
Status : Answered
Chosen Option: 1




g & forg e F @ i o e ae ot et &2

'OM
N
M
Question ID : 7532299111
Status : Answered
Chosen Option: 3
| T g?
VT SATIRIET %eH & ST81 Uoh &l Shex R%ed gRT Uk & a1 oh U ahl U1 e
HfOeh TS a1 UIUTH Ueh 919 % 8id 8

IRt SR ey § O s & TSI FIfARRIA 8§ vws A & oy fesms

QT SATIRFET fiew & gt SR ofR Iudirendf & e als wter SR =1El g1 &1

UhR ohT TR e g ot fafara effaer @R &g vl &l shrtae e & 3R 38 Tah &t
§ R ot A1 e 3fR IUFNT Bt Y Srgafar AT B

Question ID : 7532299124
Status : Answered
Chosen Option : 4

g1 &Y Irft Rt duifea (Ufe) A & fog fAafafEa A @ fora fRAfY a1 suain
AT 8?

IR T T (héc) Tfee Tz

S faeTeh AT

2 gaMT

“nter qdTET

Question ID : 7532299118
Status : Not Answered
Chosen Option : --

TR TSl sl TR A & fog Rafaf@a # @ oiF ar fRerea 99w sreaT 82
™M

v

R0OM

Question ID : 7532299112
Status : Answered
Chosen Option : 4




k Iuetey fhaier lF-i9 9 &7

i

Question ID : 7532299108
Status : Not Answered
Chosen Option : --

& fore T wR ArdwifAe Tl R gaen welia e aret eaeshia i a8 g

* 3R pIIRE 9aT

ATl

Question ID : 7532299110
Status : Not Answered
Chosen Option : --

d -9, B3 Taw R fael d O afe & o ot Ao sear &2

hivex # foneft wrger at @terar (T @)
ThiveR & siaifa Tt Gawiver & wigd @erAr (T &)
T TRieeR ol R heger | 9 &t
Ziii
AET]
Question ID : 7532299117
Status : Answered
Chosen Option : 3
8 A T HY T 872

- Delete fonelt thIse ol R & WA ®0 § g (fSefte ) & Heg shear g
o Bl fEefie A @ 39 thicer 6t goft g oft feefie gt st €

$Y 77 whrse gae SarreRdt T & STl &1

&iie 3l TS thIse oht JarIehd fo & et off A%k =16t foha ST aehdT 81

[ Question ID : 7532299120




on:
3T ot Tgahe T STehY aht THsl ok fey 77T deof & Hefa f=ferfad usi & SR <)

T Yok IS & Td 39 fTiex o1 I9TIT ahedh fiie foham sirar &1 3 (Word) fafera mer &
RIATT faehed TeT dheaT & S U SifAfa=am (page orientation), SIS o STERR,

1 W AR ohear & o o1 eran Sfagic it & ferar amed &)1 3 Ot okt e
R Uide | A 38 OST A3TSe 9 ¥ Tiewhy | aaall ST 9ehdl g | JifAeha, SieRfHe Ulce
&1 gTelifeh, AifReR A fewhy fewa glar gl

1o A1Y STeRTAT T ST TR 8.5 397 x 11 91 gidT &1 glelifoh, MS Word g gdfaffa

A S hRdl &1 Afch 3MUh! T8 S & foTT gaLIm StieeT a1y fob 3imgenr fiier fohg ot
ST R gerar &1

gicft & it foneft Stargie & IR, A, ofk ad ofk 3¢ vl o Bt STt €1 ot wfSa uen
-gURT SR AT FAT &1 IS H, T Ut # WaTfeld ®U & Yk 39 ol ATfSH gidl

No:22

b oguR, dewhu ok uide F &7
R oifee

SreE

e Sifeer

ol QelT3THe wIgel ST

Question ID : 7532299126

Status : Answered

Chosen Option: 1

n:

3T T Ugehs Tgof STHRT i el ofik fay Mg Teof & Tefda fAmfafeaa usi & IR &

fifae T S a1, Aifer, Rieew gfie, 7199, filey, A, g smude ar g

! hgelTd &1 R & & gt T STt 31gRd ¥ U § & hed 8, 'R ddR Hheeld & | SR
5 fopy TTY U <Rt WIEdIR hgl STTdT 8| 'ThHdeR’ gTeddR 3fR Aiteder I fafdd ®u g1
Gefifd Par & O sk w fAmfar grr 9sfi=, fearsy o argswiu & et su g
fomaT STTaT 81 HhHaTR ot fAsiY UehR &Y AHRT A R o sirar 8, 519 weter 35 (ROM)
R T F1E T O o1 R @it <& ST HehdT 6, FehvaaR’ shgarra g1 dl, e
St Shaet SRR (U Wien) & 915 &€ ST Fend &, fep1aar 78l &1

No: 23
g1 T greaaR & ST TUTE giaT & 8k ROM & Turdld gidr &2

R

R

Question ID : 7532299128

Status : Answered

Chosen Option: 4




on:
3T ht TgahR T STehRI aht THsl 3R fey 77w deof & Hefda fA=ferfad usi & SR <1

" GIIEIRR # ReF-3eTRd faeredt & 919 3 a6d 8, 87 91 a8 (Sort by)' foered ardt
T H thISel SR hies:l ot Goh Mg Aife faw & SrgaR sgafed fhar siram &1 emg a9
(Sort by option) TR faeTeh Tech 3T T i TGeT Tchd & | TG Thiees AT ATgsRY o forg
§ 1Y Yeh IY-STS A EierdT & St IiAT H Thisd U@k # GefT &1 3 3T Tg

£ (sorting) & Yeh 3R R ] AT ATea &, it ‘g9 a15 (Group by)' faehed T 1 3mg
%, U, STThR, &7 3fRR 317 S8 THg ol el & Tep T & 1 Uk SrU-S18 ST

It ThISE! oh T ohi F&cT Uehd ¢ | & ¢ 31Tk UTE H Foff thrget iR tiessl &t

TGS hedl &1 g Wl ol UgfRid dee & a¥ich ol Sied (sorting) & forg faehed wem
739 3¢9 ot TfthT e €, It o1y fIet & Fanae, e, adaT & dl dger a1 Thid IR
$© IS ol fum o forg fafera Twg 3w <emse agg & iR, STuehl thrsdl BhF R
&, 39 Saer o forg Iuetey et & § fonelt yen R foRTes ¥ | o1TT Suersy e & &
R ek g et T Uget SHaTTSe T gataeitch +ff i Tend &1 370 her WR S%helq
iR 9&a & g, o fehed g 3R 3107 Shger W 31M3ehIA & TR i FHIIIST et &
T SMTgeRH ehed ol 99 3| 31, I 1o g &9 IR f$eed O ot aftha o feam §, at
F YT wrge & fag fexars 39 arel faaror ) Guifed o= Terd €1 fedeq 1 R s 33
guifed & & forg, 89 © & Witifthes e R faerar 3| Stegie o g, o1y areag |
", RERINT, "hée Ve, "thec ATgel’, "Tetae” 3R "dHcH" $fE Bl Toed Tohd g
I9T) SR awRi o folg, oy dhadt "Se ¢ (Date taken)" faaRor saat Tard §, 317 T8 |

No:24
& & 'qu 13 (Group by)' 89 nfA« giaT 8?

aw)
w)
ome)

File)

Question ID : 7532299130
Status : Answered
Chosen Option : 1




n:
3T ot Tgahe T STehRY ht THsl 3R fey e deof T Hefa fA=ferfad usi & SR <)

g Rgadeet f&%en (removable disk) gl & o R cioR i &6t Age & ST forat R ugr
feohet feeh o1 +ERUT 99 9gd 91 EidT1 ¢ 3R Hafd anTd Ja-Tceh © 0 & & gidt
fewan o1 ST fefSiea et ierur & forg «ft fovar Sirar 81 gretifes, wira Jeva a8 &
h TR HSRUT fEa1Ey gidt & | THIY SehT G-: IUANT g1 [chall ST FehdT 1 BAR oIy
iffeenet fewh 39 TR &: TS, He-oR, Hiet-emresey, S|

b foen Ts et AERY o1 IuahT diwdt (PC) IuahTerdt tfi-Repies o, mifthery ofiR
H & forg w=a g1 FAmfor & gua Rt &t 713 fewep it It ot Suaivreral g1 forar ar
Hargl

T f&Tp Repieae ol thad Teh IR foRaT ST ehdT &1 TE-31R feen & Ser vt 7 at
TohdT & 3fR 71 &1 gera (feefie foram) ST TendT &1 ifch 3 s IR Ul ST dahdT &1 afe
5 9 g1 forar mar §, 3t 38 &iep T fohar ST TehdT g1 U WE-3R ot hefl-paft ez

T hidae fSh IR15eTd Tah S5iae Siifchel fS&h gidl & 37 39 &g IR foraT ST GepdT
= fohg 77T ST Rl ST g oI TehalT &1 @fehT 38 fBerar ST har 81

3fSiee adfersd fawn de oiteft AR & a1, 9ga oSt e arelt W) wrge fewn &1
&) fewn | a1 ot s, forar ar e 481 S Genar &1 3afeig DVD-ROM 221 thiged! &t
& ARl &1 3T SMHAR R TS TR Yercha™ ht TUstd e & forg Suai faman

No:25

a1 fehed hiveR ol alead 9 & uRaRa @var &2

731E (GUI) smenfa &= mafRi Rew|

SIS STATRITATS S thige|

RIS - T &%k St fathel 8 & a1 @=Te Bt Sl 5
RiET Rreen St et Ufterher &t e & grdam @ sitedl |

Question ID : 7532299133
Status : Answered
Chosen Option: 3




on:
3T Tt TgahR T STehRY aht THsl ok fey e deof T Hefdq f=ferfad usi & SR <)

U fgdeet f&%en (removable disk) Bl & oI R cioR i &Y Agg & ST foraT SR ugr
feohet feeh o1 +ERUT 999 9gd 91 811 ¢ 3R Hafd anTd Ja-Tceh ®0 & & gidt
- feTan o1 ST fefSiea et ierur & forg «ft foar e 81 gretifes, wira Jeva a8 &
h TR HSRUT fEa1Ey gidht & | TIY SehT GH: IUANT g1 [chall ST TehdT 81 BAR oIy
iffeenet feeh 39 TR &: AT, HS-9R, Hie-emresey, SdE1H|

b foen Ts anrett AERY o1 IuahT diwdt (PC) IuahTerdt tfi-Repies 2o, mifthery ofiR
[ & forw w=a g1 FAmfor & gug RepiS &t 718 fewen &Y g} &t Iumivrenal grr forar ar
Hal gl

T fETp Repfeae ol thad Teh IR foRaT ST erdT &1 TE-3R fetn T Ser at 7 at
TohdT & 3fR 71 &1 gera (feefie fomam) ST TendT &1 ifch 3 s IR Ul ST dahdT 81 afE
5 9 g1 forar mar §, 3t 38 &iep T fohar ST TehdT g1 U WE-3R ot dhefl-apeft ahreex

T hidae feh IR15eTd Tah Siae Siifchel fS&h gidl & 37 39 &g IR foraT ST GepdT
= fohg 77T ST Rl ST g ST TehalT &1 @ifehT 39 fBerar S har 81

3fSiee adferse fawn de oiteft AR & a1y, 9ga o) e areft W) wrge fewn &1
&) fewn 1 321 ot s, forar ar e 81 S Gerar &1 38feig DVD-ROM 221 thiged! &t
& ARl &1 3T SMHAR R T2 TR Yercha™ hl TUstd e & forg o faman

No: 26
F SnmuR wR, ugamH ok fRw Y sy 9 & ar ea

ofor & grg Repl< forar man el ar givedsr 32 o= gt a1 ™ ata
rER gy 3w @ St feteh R STHaRY & U ar foes ok & aR ue & 9am
F T WiSRoT AreAd TS &1

i-Tg!, iii-TTetd

-TTeTd, dii-TTeTd

-5, jii-ggr

-TTeTd, fii-TTetd

Question ID : 7532299132
Status : Answered
Chosen Option: 1




on:
3T ht Tgahe T STehRY aht THsl ok fey 77T deof & Hefa fA=ferfad usi & SR <)

T HATUGE] oh TR WR TiTehd TRaT ST 81 Ig T o SR W, T SR AL gaies &
TERR fETTmE 3R TR & SMeR wR gATat, fefoiea ik gT3fore R & w0 & dheget
TTehR S TR TR huIe 4 TR & 8d & | guR hger O+t shegext & gad «1fhereft ofk
$T BT 81 I8 ST AT H ST i AT e TehdT & SR Tgd it I Set A & 0T
R huIex 9gd IS ey dTeft Tefieher & forg Iuaht gia &1 gur e & Iarewon &
\-10, smfel

8 HhueR 81d & S Sgd 31k T GUEld o Tehd & 3R Ueh & 9Hg & ohd i o

g URER oft 81 € ofk g ®u 8 St YaT UeienvT St o forg 3ueht IuaT foha STt

it ShTTRT TET BId & | AFTThA ShEeR ohT IUANT I LA oI TR, dent ofR a1 fmat &
ff el & G99 BIC ATgeh! hReR o AR h HRUT AR A dtenfiadT efR-¢fR & &
T dhugeR Sroft Yoot TR gfie (CPU) & forg Rivrer R (ATgeRiteR) o1 IaiT ahear
if-aeft ueier R & w U H defofd fohar ST 8, foRelt oft TeRR a1 Ster dhege Sie fh
AUety, Taeie, TR 3Nfe ATSh! hegex & IaTgevl §1 3 Bie aam, =Rl 3k wemait
1 &1 e Uen AThH SR Ueh ATSoht thgeR o S MR, UTeR, TS, HeRUT &1dT
gId €1 BIC TTTa1 GRT HIShI SR T SUANT fohdT ST &

T dhugex gl € fSig TN ST ot T e o forg fesire foran mam @1 3 et 2,
AT St +ffdes geptea at ATua & ofik 3% ofel A uRafda ava &1 Tl dhgeR siichel
gohd &1 TISHIeR 3R AT emiHfieR TATANT SheR o Iarexvl & | fefieat dhger ot 3=
R UM SR dTfhen TraTe e o forg fesme= foma mam 81 2 saiareifieh Tehal IR 9erd &,
7 TG ana Sich gl o1 IUANT X & | SThely AT uery fSfSied e & s

IS thegex ® gATenT ofR fefSiea dhagex gt &t fativard gidt &1 a8 e shger &t

¥ ok 3o fefSieet dhwger il v AR ofk Tdiehar gt &1

No:27
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Question ID : 7532299136
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n:
3T ht TgahR T STehRI ht THsl ok fey 7T deof T Hefq fA=ferfad usi & SR &1

T HTUGE] o TR WR JiTehd fRaT ST 81 Ig2T o SR W, T SR AL gt &
TSR fETTE 3R UahR & SR wR gATat, fefoieat ofik gT3fore R & w0 & dheges
TTehR o TR TR huIe 4 TR & 8d & | G- hger O+t shegext & gad «1fhereft ofk
$T BT 81 I8 ST AT H ST i AT e TehdT & 3R Tgd it I Sret AT & 0T
R huIex 9gd IS ey dTeft Tefieher & forg Iuaht gia &1 gur e & Iarewon &
\-10, 3mfe

8 HhueR 81d & S Sgd 31k T GUEld o Tehd & SR Ueh &) 9Hg & ohg o o

g UER oft 8id € ofk g ®u 8 St YaT UeenvT St o forg 3ueht IuaT fohar STt

it ShTChT TET BTd & | AFTThA ShiEeR ohT IUANT I LA oI TR, dent ofR &S fmrat &
ff el & G99 BIC ATSeh! hReR o AT h HRUT AR A dtenfiadT efR-¢R & &
T dhugeR Sroft oot TR gfie (CPU) & forg Rivrer R (ATgeRitheR) o1 IaiT ahear
if-aeft Uit R & w U H defofd fohar ST 8, foRelt oft TeRR a1 Ster dhege Sie fh
ATy, Taeie, TR 3Nfe AT3h! hegex & IaTgevl §1 3 Bie aam, =i 3k wemait
1 &1 e Uen A-ThH SR Ueh ATSoh! ShgeR & S MR, UTeR, TS, WeRUT &1
gId €1 BIC TTTa1 GRT HISEhI SR T SUANT fohdT ST &

T dhuger g € fSig THTenT ST ot T el o forg fesire foran mam @1 3 et 2,
AT St +ffdes geprea ant ATua & ofik 3% ofel A uRafda ava &1 Tl dhgeR siichel
gohd &1 TSR 3R AT emiHfieR TATANT Sher o Iarexvl & | fefieat dhger ant 3=
RO SR dTfchen TaTe e o forg fesme= fomar mam 81 3 seiargifieh Hehal IR 9erd &,
7 TG aMaR Sich Ugfcl o1 IUANT X & | SThely AT uery fSfSied e & s

IS thegex ® gATenT ofR fefSiea dhegex gt &t fativard gidt &1 a8 e shger &t

¥ ol 3o fefSieet dhwger il v AR ofk Tdiehar gt &1

No:28

A ué 3R garsy fok A A @ &9 91 Y= Ted &2
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on:
3T Tt TgahR T STehRY aht THsl ok fey e deof T Hefdq f=ferfad usi & SR <)

T HATUGS] oh TR WR JiTehd fRaT ST 81 IgT o SR W, TR 3R AL gaies &
TSR fETTE 3R UehR & SR WR gATat, fefoiea ofik gT3fore R & U & dhege
TTehR % TR TR huIe 4 TR & &d & | guR hger T+t shegext & gad «1fhereft ofk
$T BT 81 I8 ST AT H ST i AT e TehdT & 3R Tgd it I et 7T & 0T
R huIex 9gd IS ey dTeft Tefieher & forg Iuaiht gia &1 gur e & Iarewon &
\-10, 3mfe

8 HhueR 81d & S Sgd 3ifeh T GUEld o Tehd & SR Ueh & 9Hg & ohd i o

g UER oft 8id € ofk g ®u & St YaT UeenvT St o forg 3ueht IuaT foRa STt

it ShTTRT T BTd & | AFTThA ShEeR ohT IUANT I8 LA oI TR, dent ofR & fmrat &
ff el & G99 BIC ATgeh! hReR o AR ch HRUT AR A dtenfiadT €fR-efR & &
T dhegeR Sroft et TR gfie (CPU) & forg River R (ATgeRit8eR) o1 IaiT ahear
if-areft ueier R & w U H defofd fohar ST 8, foRelt oft TeRR a1 Ster dhege Sie fh
AUety, Taeie, TR 3Nfe ATSsh! hegex & IaTgevl §1 3 Bie saam, el 3k semsit
1 &1 e Uen AFThH SR Ueh ATSoh! thgeR o S MR, UTeR, TS, WeRUT &1dT
gId €1 BIC TTTa1 GRT HISEhI SR T SUANT fohdT ST &

T dhuger gl € fSig TN ST ot T e oh forg fewire foran mam @1 3 e, e,
AT St +ffdes geprea ot ATua & ofik 3% ofel A uRafda ava &1 Tl dhgeR siichet
Tohd &1 TSR 3R AT emiHfieR TATANT Sher o Iarexvl &1 fefiea dhger ot 3=
RO SR dTfhe TraTe e o forg fesme= fomar mam 81 3 seiareifieh Hehal IR 9erd &,
7 TG amaR Sich gl o1 IUANT X & | SThely AT uery fSfSied e & sgai

€ thegex ® gATenT ofR fefSiea dhegex gt &t fativard gidt &1 a8 g shger &t

¥ ok 3 fefSieet dhwger il v AR ofk Tdiehar gt &1

No: 29
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on:
3T ht Tgahe T STehRY aht THsl ok fey 77T deof T Hefq f=ferfad usi & SR &)

T HTUGE] o TR WR JiTehd fRaT ST 81 Ig T o SR W, TR SR AL gt &
TSR fETTE 3R TR & SR WR gATat, fefoieat ofik gT3fore dvger & w0 & dheges
TTehR % TR TR huIex 4 TR & 8d & | gk hger O+t shegext & gad «ifhereft ofk
ST BT 81 I8 ST AT H ST i AT e TehT & SR Tgd doft I Sret 7 & 0T
R huIex 9gd IS ey dTelt Tefieher & forg Iuaht gia &1 gur e & Iarewon &
\-10, 3mfel

8 HueR gid & S Sgd 31k G GUEld o Tehd & SR Ueh & gHg & ohd o o

g URER oft 8id € ofk g ®u & St YaT UeenvT it o forg 3ueht IuaT fohar STt

it ShTTRT FET BTd & | AFTThA ShEeR ohT IUANT I LA oI TR, dent ofR 5 fmrat &
ff el & G99 BI ATgeh! hReR o AR h HRUT AR i dtenfiadT eR-efR & &
T dhugeR Sroft Yoot TR gfie (CPU) & forg River R (ATgeRiteR) o1 IaiT ahear
if-aeft Ui R & wU H deffd fohar ST 8, foRelt oft eRR a1 Ster dhege Sie fh
AUety, Taeie, TR 3Nfe ATSh! hegex & IaTgevl §1 3 Bie gaam, =i 3k semait
1 &1 e Uen AThH SR Ueh ATSoh! e & S TR, UTeR, TS, YR &1
gId €1 BIC TTTaA1 GRT HISEhI SR T SUANT fohdT ST &

T dhuger g € fSig TN S ot T e o forg fewiret foran mam @1 3 e, 2,
AT St +ffes geptea anl ATua & ofik 3% ofel A uRafda ava &1 Tl dhgeR siichel
gehd 31 TSR 3R AT emiHfieR TATANT SheR o Iarexvl 8| fefieat dhger ant 3=
RO SR dTfhes TaTe ae o forg fesme= fomar mam 81 3 seiargifieh Hehal IR 9erd &,
7 TG aMaR Sich Ugfcl o1 IUANT X & | SThely AT uery fSfSied Thage & s

€ thegex H gATenT ofR fefSiea dhager gt &t fativard gidt &1 a8 g shger &t

¥ ok 3uH fRfSieet dhwger il v AR ofk Tdiehar gt &1

No: 30
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